
  

  

  

Installation Instructions

Main Control Board for PowerFlex® 700S Drive

What This Kit Contains Verify that your kit contains the items listed in the following table. If your 
kit does not contain the correct items, contact your Allen-Bradley sales 
representative.

Tools That You Need • Phillips® screwdriver for M3 screws
• Pozidrive® screwdriver for M4 screws (for high power drives only)
• Nut driver or wrench for M3 hex nut
• Nut driver or wrench for M5 hex nut
Phillips® is a registered trademark of Phillips Screw Company
Pozidrive® is a registered trademark of Phillips Screw Company

!
ATTENTION:  To avoid an electric shock hazard, verify that the 
voltage on the bus capacitors has discharged before performing 
any work on the drive. Measure the DC bus voltage at the +DC & 
–DC terminals of the Power Terminal Block (DC+ & DC- in high 
power drives). The voltage must be zero.

!
ATTENTION:  HOT surfaces can cause severe burns. Do not 
touch the heatsink surface during operation of the drive. After 
disconnecting power allow time for cooling.

!
ATTENTION:  This drive contains ESD (Electrostatic 
Discharge) sensitive parts and assemblies. Static control 
precautions are required when installing, testing, servicing or 
repairing this assembly. Component damage may result if ESD 
control procedures are not followed. If you are not familiar with 
static control procedures, reference A-B publication 8000-4.5.2, 
“Guarding Against Electrostatic Damage” or any other 
applicable ESD protection handbook.

Quantity: Description
1 Main control circuit board
1 Disposable Static Discharge Wrist-strap
 



2 Main Control Board for PowerFlex® 700S Drive
  

  

What You Need to Do To remove the main control board from the PowerFlex 700S drive:

❐ Step 1: Remove cover(s) from the drive / control assembly 

❐ Step 2: Disconnect the main control board

❐ Step 3: Remove the control assembly from drive (if necessary)

❐ Step 4: Remove the feedback option card (if present)

❐ Step 5: Remove the DriveLogix controller (if present)

❐ Step 6: Remove the main control board 

To install the new main control board on the PowerFlex 700S drive:

❐ Step 7: Configure dip switches and jumpers

❐ Step 8: Install the main control board on the control assembly

❐ Step 9: Install the stacker connectors on the DriveLogix controller (if 
removed in step 4)

❐ Step 10: Install the DriveLogix controller 

❐ Step 11: Install the feedback option card (if removed in step 3)

❐ Step 12: Install the control assembly on the drive 
(if removed in step 2)

❐ Step 13: Connect the main control board

❐ Step 14: Install the cover(s) on the drive / control assembly

To return replaced main control board, use packing material from the new 
main control board.
  



Main Control Board for PowerFlex® 700S Drive 3
  

  

 

Step 1: Removing Cover(s) 

Esc

7 8 9

4 5 6

1 2 3

. 0 +/-

Sel

Jog

Alt

Exp Param #

S.M.A.R.T. Exit Lang Auto / Man Remove

DRIVEDRIVE

SYNCHLINK
ENABLE

A

C

B

D

E

A

B

For High Power Drives

Task Description
Remove eight (8) screws with Pozidrive screwdriver

Remove power cover (top cover)

A

B

Task Description
Loosen captive screw

Push down on front cover

Pull front cover away from assembly

Pull side cover forward

Lift side cover off of control assembly

A

B

C

D

E

8 Screws
 



4 Main Control Board for PowerFlex® 700S Drive
  

  

Step 2: Disconnecting the 
Main Control Board Task Description

Disconnect ribbon cable from J2

Disconnect ribbon cable from J7 (only in high power drives)

A

B

A

AB

Frames 1-6
(Frame 1 shown)

Frames 9 and 10
(Frame 9 shown)
  



Main Control Board for PowerFlex® 700S Drive 5
  

  

 

Step 3: Removing the 
Control Assembly 
(if necessary)

This step is necessary only when another drive or panel component blocks 
access to the control assembly. Avoid removing it if possible.

Step 4: Removing the 
Feedback Option Card 
(if present)

Task Description
Unplug I/O and SynchLink cables from the main control board, unplug feedback wiring 
from feedback option feedback option card, and unplug communication cables from 
DriveLogix controller
Remove M5 nuts

Remove control assembly

A

B

C

C

B

B

Task Description
Remove M3 screws with Phillips screwdriver

Remove feedback option board and through-board pin connectors from main control board

Remove standoffs from main control board

A

B

C

B

A

C

 



6 Main Control Board for PowerFlex® 700S Drive
  

  

Step 5: Removing the 
DriveLogix Controller
(if present)

Task Description
Loosen M3 hex-nut with nut driver or wrench

Remove M3 screws with Phillips screwdriver

Remove DriveLogix Controller Assembly and through-board pin connectors from main 
control board

A

B

C

A

B

C

B

  



Main Control Board for PowerFlex® 700S Drive 7
  

  

 

Step 6: Removing the Main 
Control Board

®Snap-Top is a registered trademark of PEM Fastening Systems

Task Description
Remove M3 screws with Phillips screwdriver

Remove main control board while pushing on the Snap-Top® stand-offs

A

B

A

A

B

B

A

B

 



8 Main Control Board for PowerFlex® 700S Drive
  

  

Step 7: Configuring Dip 
Switches and Jumpers

1 2

FRONT - TOP VIEWSIDE VIEW

UP = OPEN = OFF

DOWN = CLOSED= ON

SW1

OPEN

1

FRONT - TOP VIEWSIDE VIEW

UP = OPEN = OFF

DOWN = CLOSED= ON

SW2

2 3 4 5 6 7 8
J6

Pin 3
Pin 2
Pin 1

Analog Input #1 
Scaling

+/-10.0V dc  +/-1.0V dc

SW1-1 Open Closed

Analog Input #2 
Scaling

+/-10.0V dc +/-1.0V dc

SW1-2 Open Closed

Primary Encoder SW2-2 SW2-4 SW2-6
5V dc Operation Closed Closed Closed
12V dc Operation Open Open Open

Secondary Encoder SW2-1 SW2-3 SW2-5
5V dc Operation Closed Closed Closed
12V dc Operation Open Open Open

Encoder Power 
Supply Voltage

Jumper 
Position

5V dc 2-3
12V dc 1-2
  



Main Control Board for PowerFlex® 700S Drive 9
  

  

 

Step 8: Installing the Main 
Control Board Task Description

Install main control board while pushing on the main control board around the Snap-Top® 
stand-offs
Install and Tighten M3 screws with Phillips screwdriver (min/max 6 in-lb / 8 in-lb)

A

B

B

C

A

A

A

B

B

 



10 Main Control Board for PowerFlex® 700S Drive
  

  

Step 9: Installing the 
Stacker Connectors on the 
DriveLogix Controller
(if removed in step 5)

Task Description
Align Stacker Connectors with through-holes

Insert Stacker Connectors

The end with the longer pins must plug into the 
DriveLogix Controller

A

B

A

B

The end with longer 
pins must plug into 
the DriveLogix 
Controller
  



Main Control Board for PowerFlex® 700S Drive 11
  

  

 

Step 10: Installing the 
DriveLogix Controller 
Assembly

Task Description
Align slotted hole in mounting tab with stud on back 
of Control Assembly
Align Stacker Connectors with mating connectors

Install DriveLogix Controller Assembly on drive

A

B

C

A

B

C

 



12 Main Control Board for PowerFlex® 700S Drive
  

  

Step 10: Installing the 
DriveLogix Controller 
Assembly (continued)

Task Description
Install and tighten M3 screws with Phillips 
screwdriver (min/max 7 in-lb / 10 in-lb)
Tighten M3 hex-nut with nut driver or wrench (min/
max 7 in-lb / 10 in-lb)
Plug communication cables into DriveLogix 
controller

D

E

F

D

D

E

  



Main Control Board for PowerFlex® 700S Drive 13
  

  

 

Step 11: Installing the 
Feedback Option Card 
(if removed in step 4)

Task Description
Install and tighten stand-offs (min/max 7 in-lb / 10 in-lb)

Insert short pins of through-board pin connectors into mating connectors on the main 
control board

The end with short pins must plug into the main control board
Plug card onto the through-board pin connectors and the main control board

The end with longer pins must plug into the Feedback option card
Secure card to stand-offs, using screws with captive lock washers, tighten screws with 
Phillips screwdriver (min/max 6 in-lb / 8 in-lb)

A

B

C

D

The end with longer pins must 
plug into the Feedback option 
card

The end with short pins must 
plug into the main control board

C B

D

A

 



14 Main Control Board for PowerFlex® 700S Drive
  

  

Step 12: Installing the 
Control Assembly 
(if removed in step 2)

Step 13: Connecting the 
Main Control Board

Task Description
Install control assembly

Install and tighten M5 nuts (torque 18 in-lb)

Connect I/O and SynchLink cables to the main control board, connect feedback wiring to 
feedback option feedback option card, connect communication cables to DriveLogix 
controller

A

B

C

A

B

B

Task Description
Connect ribbon cable to J2

Connect ribbon cable to J7 (only in high power drives)

A

B

A AB
  



Main Control Board for PowerFlex® 700S Drive 15
  

  

 

Step 14: Installing Cover(s)
Task Description

Align tabs on side cover with slots on drive

Push side cover down onto control assembly

Push side cover back onto control assembly

Locate tabs on inside of front cover

Align tabs on front cover with slots on flanges

Push front cover onto drive

Push front cover up into slots

Tighten captive screw

A

B

C

D

E

F

G

H

B

C

A

F

G

D

E

H

 



16 Main Control Board for PowerFlex® 700S Drive
  

Step 14: Installing Cover(s) 
Continued 
(For High Power Drives)

Task Description
Install power cover (top cover)

Install and tighten eight (8) screws (torque 20 in-lb) with Pozidrive screwdriver

A

B

A

B

8 Screws

TIP:  Use packing material from new main control board to return the 
replaced main control board
  

  

www.rockwellautomation.com

Corporate Headquarters
Rockwell Automation, 777 East Wisconsin Avenue, Suite 1400, Milwaukee, WI, 53202-5302 USA, Tel: (1) 414.212.5200, Fax: (1) 414.212.5201

Headquarters for Allen-Bradley Products, Rockwell Software Products and Global Manufacturing Solutions
Americas: Rockwell Automation, 1201 South Second Street, Milwaukee, WI 53204-2496 USA, Tel: (1) 414.382.2000, Fax: (1) 414.382.4444
Europe/Middle East/Africa: Rockwell Automation SA/NV, Vorstlaan/Boulevard du Souverain 36, 1170 Brussels, Belgium, Tel: (32) 2 663 0600, Fax: (32) 2 663 0640
Asia Pacific: Rockwell Automation, 27/F Citicorp Centre, 18 Whitfield Road, Causeway Bay, Hong Kong, Tel: (852) 2887 4788, Fax: (852) 2508 1846

Headquarters for Dodge and Reliance Electric Products
Americas: Rockwell Automation, 6040 Ponders Court, Greenville, SC 29615-4617 USA, Tel: (1) 864.297.4800, Fax: (1) 864.281.2433
Europe/Middle East/Africa: Rockwell Automation, Brühlstraße 22, D-74834 Elztal-Dallau, Germany, Tel: (49) 6261 9410, Fax: (49) 6261 17741
Asia Pacific: Rockwell Automation, 55 Newton Road, #11-01/02 Revenue House, Singapore 307987, Tel: (65) 6356-9077, Fax: (65) 6356-9011

U.S. Allen-Bradley Drives Technical Support
Tel: (1) 262.512.8176, Fax: (1) 262.512.2222, Email: support@drives.ra.rockwell.com, Online: www.ab.com/support/abdrives

U.S. Reliance Drives Technical Support
Tel: (1) 800.726.8112, Online: www.reliance.com/prodserv/standriv/customer

Publication 20D-IN005C-EN-P - March 2004 16 PN 317003-P03
Supersedes 20D-IN005B-EN-P - March 2003 © 2004 Rockwell International Corporation.  Printed in the U.S.A.


PDF Job Options

		PDF Job Options

		Tab		Description

		General		File Options

						Compatibility:		Acrobat 3.0

				3				Optimized PDF

						Resolution:		1200 dpi

						Binding:		Left

		Compression		Color Bitmap Images

				3		Bicubic Downsampling at:		150 dpi

				3		Compression:		Automatic

						Quality:		Medium

				Grayscale Bitmap Images

				3		Bicubic Downsampling at:		150 dpi

				3		Compression:		Automatic

						Quality:		Medium

				Monochrome Bitmap Images

				3		Bicubic Downsampling at:		300 dpi

				3		Compression:		CCITT Group 4

				3		Compress Text and Line Art

		Fonts		3		Embed All Fonts

				3		Subset All Embedded Fonts Below:		100%

						When Embedding Fails:		Warn and Continue

						Embedding:		Base 14 Fonts

		Color		Conversion

				3		Leave Color Unchanged

				Options

				3		Preserve Overprint Settings

				3		Preserve Under Color Removal amd Black Generation

				3		Preserve Transfer Functions

		Advanced		Options

				3		Preserve Level 2 copypage Semantics

				Document Structuring Convensions (DSC)

				3		Process DSC

				3		Preserve EPS Info from DSC

				3		Preserve OPI Comments

				3		Preserve Document Info from DSC

				Default Page Size

						Width:		612

						Heigth:		792

						Units:		Points





Offset Print Specs

		Offset Print Specifications

		Publication:		20D-IN005C-EN-P

		Quantity:		Specified by Buyer

		Sides:		Double-sided

		Body Page Count:		16

		Stock Weight - Body:		50# smooth white offset (house stock)

		Ink - Body:		Black

		Cover Count:		0

		Stock Weight - Cover:		8-10 pt.; coated 1S (house weight & stock)

		Ink - Cover:		Black and PMS #187 red; aqueous coated

		Binding:		Saddle stitch (112 pages maximum)

		Drilling:		Yes

		Folding:		Based on binding method

		Trim Size:		8.5 x 11 inches (Nominal)

		File Sent:		PDF

		Packaging:		Specified by Buyer

		Delivery:		Specified by Buyer





POD Print Specs

		Print On Demand Specifications

		Publication:		20D-IN005C-EN-P

		Quantity:		Specified by Buyer

		Sides:		Double-sided

		Body Page Count:		16

		Stock Weight - Body:		20# bond

		Ink - Body:		Black

		Cover Count:		0

		Stock Weight - Cover:		90# Bristol Index

		Ink - Cover:		Black

		Binding:		Saddle-stitch (112 pages/56 sheets maximum)

		Drilling:		Yes

		Folding:		Based on binding method

		Trim Size:		8.5 x 11 inches (Nominal)

		File Sent:		PDF

		Packaging:		Per vendor standard method

		Delivery:		Specified by Buyer





ahweil
TCQF-123 Mfg Spec.xls


	Front Cover
	What This Kit Contains
	Tools That You Need
	What You Need to Do
	Step 1: Removing Cover(s)
	Step 2: Disconnecting the Main Control Board
	Step 3: Removing the Control Assembly (if necessary)
	Step 4: Removing the Feedback Option Card (if present)
	Step 5: Removing the DriveLogix Controller (if present)
	Step 6: Removing the Main Control Board
	Step 7: Configuring Dip Switches and Jumpers
	Step 8: Installing the Main Control Board
	Step 9: Installing the Stacker Connectors on the DriveLogix Controller (if removed in step 5)
	Step 10: Installing the DriveLogix Controller Assembly
	Step 10: Installing the DriveLogix Controller Assembly (continued)
	Step 11: Installing the Feedback Option Card (if removed in step 4)
	Step 12: Installing the Control Assembly (if removed in step 2)
	Step 13: Connecting the Main Control Board
	Step 14: Installing Cover(s)
	Step 14: Installing Cover(s) Continued (For High Power Drives)
	Pub No. / Date

